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Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.
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. a) How are the principles of indemnity, subrogation and contribution 10 -
applied in personal Accident Insurance? Discuss giving examples.
b) Describe the salient features of the group Personal Accident insurance. 6
2. ) AR AfEFW I w F g W e SR aor s i 8
ST ) g Rdward s :
%) Wi diferdt 3 siwfa fem R st o, SR SRRe 4
2. -a) Describe the contents of indjvidual Mediclaim Proposal form and -8
also state the special features of declaration incorporated therein.
b). What are the extra benefits available under Mediclaim Policy without 4

charging additional premium?
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Which factors are ordinarily considered by Insurance Company before 4
issuing All Risk Insurance Policy?
Mention some of the important exclusmns of All Risk Insurance 8
Policy.
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Write short notes on any three of the following :~ 4 each
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Duplicate 'key clause’:

Sports Insurance

Personal Accident flight insurance coupons.
Special contingency Insurance.

(sraias%éeﬁ)
o ST JTE O § ‘@aﬁmﬁm-ﬂﬁéaﬁml

o i F ervafela aifEl g )

Enumerate the questions which are generally asked in Money 6 each
Insurance Proposal form.

List out the losses which are excluded from the scope of Money
Insurance.
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Under what circumstances first loss policies are issued in Burglary
Insurarice? Discuss the relevant features including the aspect of rating.
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Describe the office protection shield considered for general offices.
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Distinguish bétwecn commercial Fidelity guarantees and court bonds. 12
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a)  Specify the cover available under the different sections of the Bankers’ 4 each N
Blanket Insurance. - ) . )
b)  What is meant by Basic sum insured and the Additional sum insured
in the above policy. : v ‘
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A burglary policy has been issued for a sum insured of Rs. 2.50
croroes. A Loss occurred thereunder for Rs. 90,000. It was however
found that at the time of loss the value of property at risk was
Rs. 2,25,00,000. What wouid be the amount of claim payable?

A money policy has been issued for a per carrying limit of
Rs. 10,00,000 and estimated annual carrying Rs. 1 crore. The
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' premium rate was determined to be Rs. 0.20%0. What would be the

amount of premium?

The insured was involved in an accident in which he suffered a fracture
of his right leg. He was hospitalized for one week and thereafter
treated at home. He was fit to resume duties only after 8 weeks from
the date of accident. The doctor opined further that due to effects of
the accidental injury the insured had 5% of Permanent Partial
Disablement. The sum insured under the policy is Rs. 3,00,000.

Calculate the amount of claim payable. . :

A blanket fidelity guarantee cover was issued for a sum insured of
RS. 40,00,000 covering 400 employees. An employee through his
dishonest actions caused a loss of Rs. 50,000 to his employer, our
insured. What would be the amount of claim payable?
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